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1. When you exercise ,your body uses that extra fuel to keep you going strong.

2. As you do aerobic exercise and bring in oxygen ,your heart becomes stronger.
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3. | saw Hossein as | was getting off the bus...
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exercise.

4. Hasan has a very stro
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5. Execise helps protect you fr ' ce WVES better support to your joints.
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6. Since you are unable to arMIAe aps you should ask someone else.
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7. As he was too tired ,he didn’t feel like going to the gym.
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8. We asked sadegh to come with us ,as he knew the road.
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9. Exercising is an excellent way to feel happy whether you do it alone or with your
parents.
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10. Look, Borna ,I'm calling the doctor ,whether you like it or not.

AL ol 3 G gy g dacaion S0 L ulad Jla 5o Gacli S o8

whether ;since ,because ,as when < &Ll hiw®
il Glaj Gy sy AS Al | b 5183 L) CilalS ) S8 S ST e e e e e e eeeeeeereeeeeeeeeeeeeeeessecna

s, e ol s

AS

e as s o 53 58 e B a0l o fet dedls o048 3 gl e saliiu) alKa ;e saiaa dayy -1

Cand S alKia "

| saw an accident as | was walking home.
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As | was too hungry | stopped to buy a sandwich_
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When | heard the door bell, | opened the door
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Mary joined the national basketball team when she was 21.
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Since /because
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She didn’t go out because it was raining.
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Since the exercise is too easy, we can easily-do it
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Since the weather W‘fin
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You will have to accept it whether you like. it or not.
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We must do all these exercises whether they are easy or difficult
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Age 59
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| have lived in Mashhad since | was born.
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He was walking as slowly as a turtle.
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Good eye contact helps your audience feel more relaxed.
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A smile |ets your audience know that you are human and trustworthy.
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Asking questions can make the audience concentrate on your speech.
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He helped his wife do the dishes.
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He helped his wife to dot is
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1. Put feeling and energy into your voice by practicing.
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2. You can involve your audience by asking them some questions.
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3. You can add variety to your speech by raising or by lowering your voice.
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1.a. all over the world there are people wh ironment. (clause)

b. all over the world there a € environment. (phrase)
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(clause)

2.a. energy which comes form fiiej like coal and oil is used to heat and light our home
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b. energy coming form fuels like coil and oil is used to heat and light our home (phrase)
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3.a. most plastics which are made form oil are difficult to recycle (clause)
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b. most plastics made form oil are difficult to recycle (phrase)
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4.a.the photographs which were taken of the earth were wonderful (clause)
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b. the photographs taken of the earth were wonderful (phrase)
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Modification of adjectives
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1. The earthquake was so strong that it destroyed the whole village.
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2. The earthquake was so |light that only special instruments could record it.
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3. It was such a strong earthguake that it destroyed the whole village.
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4. It was such a mild earthguake that only special instruments could record it.
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5. The emergency telephone numbers like police are easy enough to remember.
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6. Only a few people stay calm enough to help the injured after an earthquake.
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7. They had enough money to buy a first —aid box.
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8. They had enough confidence to help the injured.
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9. Some instructions were too difficult for us to understand.
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10. Most people were too frightened to do anything.
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SO+ <dw L Lé+that clause

1. The film was so good that | saw i
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1. I've never met su
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2. It was such a funny joke couldn’t help laughing.
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1. The coffee is too hot to drink.
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2. The lesson was too hard for us to understand.
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1. He is tall enough to reach the ceiling.
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2. The exercise was easy enough for me to do it.
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1. Mary had enough time to read his novel.
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2. There is enough money for you to take a vacation.
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expressing cortrast e Gby
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employed.
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4. Whereas rural children usually work in agriculture, some children in urban area work
in trade and services.
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-Js) aleac While/whereas a5 4les
-While/whereas+dJ 4lea ¢ 50 aloa

S iy & 5 e Ay i€ a yspeab L) S0 Jlie is s
1. While peter works very hard, his brother is very lazy.
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2. While jack is a clever student, his brother is lazy .
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3. Some people like team sports, whereas others prefer individual sports.
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1. My brother is reading a book on space exploration so that he will get more
information.
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2. A space probe is a robot vehicle used to_ explore deep space
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3. Muhammad moved to a new apartment in order to get near his work
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4. Today's scientists use the Hubble space telescope so as to understand the earth,
solar system , and what is beyond.
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1. Ali goes to the library so that he can study in a quiet plac
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2. Ali went to the library so that he could study in a quiet place.

330y Anllne 4y Sl ilSa Ja il gl U by AALS 4y e

(D SLS) Al oa (10 O 9n daa) oaba JS05 43 Adiaas J2b (o) GllS) pald Sl Jladl Hlans 1 o 9/b
?7"'.‘5 oalai) B M o/ pad JM‘LL\]\A J\ ?:‘"‘Jj e )\5 e\;.'\\ J\ o Ol LS‘)—.’.Z

1.1 lay down for a minute to relax
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1. He moved to a new apartment in order to be near his work.

iy S35 QIS Jae 4y B S (S JAT Baa Gl ol 4y

13




L]

Ol

TG\ | IO I IOV

2. She’s going to the post office so as to buy some stamps.
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1. Although the internet provides many services, it has its own problems, too.
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2. Many people are not able to use the internet, even though it is available for the
public.
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3. Though reza has a personal computer, he doesn’t use it very often.
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1. Mother Teresa devoted her life to the poor .she must have been a very kind person.
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2. Edison had signs of a serious hearing problem .this may have been the reason for
his poor performance at school.
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3. Mother Teresa spent all her life helping the people of India what she did was great
.but people in Africa are much poorer and | believe she should have helped them
instead.
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May/might+ have + p.p
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Tina was absent yesterday .she may/might have been sick.
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Must+ have + p.p
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Tina was absent yesterday .she must have been sick.
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Should +have + p.p
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1.You should have helped the poor (but you didn’t)
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2.1 shouldn’t have asked him for help. (but | did)
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